
September 18, 2018

What multiplication equation is 
represented below?

Cole, Alma, Quinn and Patty each 
have a bag of candy. Each bag 
has 6 pieces in it. How many 
pieces of candy do they have 
altogether?

Which equation is represented by the

array below?

A. 5x4 C. 20  4

B. 4x5 D. All of the above

Which multiplication sentence is 
represented on the number line 
below?

A. 18x1= 18 B. 3x6= 18

B. 3x3=18 D. 18x6=3
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Allen has 20 cookies to share 
with his 5 friends. How many 
cookies can he give each of his 
friends?

A. 4 C. 25

B. 5 D. 15

Hannah has 35 inches of string 
and wants to make 7 bracelets. 
If she uses the same amount 
for each bracelet, how many 
inches will she use for each?

A. 28 inches C. 7 inches

B. 5 inches D. 9 inches

Gabby made 4 cupcakes. She 
put 6 sprinkles on each 
cupcake. Which equation would 
you use to solve?

A. 4x6 C. 4+4+4

B. 6x6x6x6 D. 6x6

Allen has 20 cookies to share 
with his 5 friends. How many 
cookies can he give each of his 
friends?

A. 4 C. 25

B. 5 D. 15
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What number sentence is modeled

by the picture below?

A. 3x5=15 C. 5+3=8

B. 15  3=5 D. Both a & b

Which number sentence is

modeled below?

A. 8-2=6 C. 8  2= 4

B. 2x4=8 D. 8-2=0

Mrs. Vawter made 9 goody bags 
with 5 treats in each bag. Which 
number sentence shows how 
many treats were used in the 
bags?

A. 9x5 C. 9-5

B. 9+5 D. 5+9

Eli bought 4 apples and 3 bunches of 
bananas. If each bunch had 6 bananas 
in it, how many total bananas did Eli 
buy?

A. 13 C. 18

B. 12 D. 24
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Halee spent $28 on Shopkins. If 
she bought 4 packs of Shopkins 
that all cost the same amount, 
how much did each pack cost?

A. $6 C.$8

B. $24 D. $7

Which number sentence is 

modeled by the array below?

A. 5x4=20 C. 20    5=4

B. 20   4=5 D. all of the above

5 x    = 35

What does      equal?

A. 21 C. 30

B. 5 D. 7

Ava's mom buys 4 cartons of eggs. 
Each carton has 7 eggs in it. How 
many total eggs did she buy?

A. 3 C. 18

B. 11 D. 28
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There are 5 tables in the classroom. 
Each table has 6 chairs at it. How 
many total chairs are there in the 
classroom?

A. 30 C. 35

B. 11 D. 1

Liam has 48 Legos and wants to put 
them in bags of 6. How many bags will 
Liam need?  


